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Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
S SPPTR BT ford

(@) Who put forward the IS-LM model?
IS-LM WfEHT e SoReiXfeet 2

(b)) What is the condition for equilibrium in
the goods market?

T JERE SRR 56 & 2
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(2)
(c) Define effective demand.
Ay v e A |
(d) What is meant by aggregate supply?
R o et R e 2

(e) What is stagflation?

Froerdifs 59

() Whatis meant by unemployment rate?
R 3 o & mme

(g) Give an assumption of multiplier.

BT T SSHReT 2741 |

- (h) What is Balance of Payments?
TR el & 2

(i) Give fhe meaning of demonetization.
Regesas oig forr 1

() What is exchange rate?
Rffm e 2
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(3)

2. Answer the following questions : ‘2XS¥10
(a) What are the cbinporleﬁts ‘of’ bagf/;;reg‘atg
demand?
e ST SR R R 2

-(b) Why is the slope of IS curve negative? 4
IS ¥ O 4 R e

(c) Show the differences between: Current
Account and Capital Account. '

sﬁvﬁmwmﬁwwm
(TS |

'(d) Mention two features of inflation.

TSR 1 LA S w1

(¢) What are the two types of fore1gn
exchange market?

o R e B o B B2
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(4)

3. Answer any four of the following questions :
' 5x4=20

wor PR R e ke s forn :

(a) 'Déﬁne ag'gfegate demand curve. Why
does the aggregate demand curve slope
downward?

s oM @R e a1 R wtw

(b)) What are the limitations of IS-LM
model?

IS-LM Wii¥q Faraernz & 2

(c) Explain the importance of multiplier.
BT GF T 0 |

(d What are the measures to control
inflation? '
TS gt IR /PR R {2

(e) Define Phillips curve. What does the
short-run Phillips. curve show? .

Rfrr @ e fan | e Rfrp @i}
& o2
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(5)

() Give the meaning of foreign exchange.
What are the mstruments of forelgn

exchange?
e R ﬁﬁn o R
e ¥ R 2
4. Answer the following questions : 10x4=40
| OO PP TR o

(a) Define IS-LM curve. Explain the IS-LM
model with the help of diagram.

IS-LM mnmﬁmlsmw&’zhﬁm
SRS M 4 |

- Or/ 9%l
Explain how LM curve is derived.

LM @31 s e 391 W, TR0 4

. (b) ‘Explain the causes of demand-pull and
cost-push inflation. ~

WWWWW—W‘A

- PREPTR IR FT 1
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(6 )

Or /=41

Discuss the eﬁ'ects of mﬂatlon on
productmn and dlstnbutlon '

B F AW RS W Ao
S ¥ |

() Whatis mﬁltipliér‘r" Discuss the Wofking
of multiplier.

@ 7 @I JefdE S 41 |

Or / oAl
Explain the nature of shdrt—rgp and
long-run aggregate supply curve.

A WF AN R Qe @¥®
23S I 390

(d) What are the causes of disequilibrium
in Balance of Payments? Mention the
measures to correct the disequilibrium
in Balance of Payments.

AT TWOR SIPTRTER FRPZ & 62
TR O SIRATRITS] RPN IEPTR
Sy 101
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(7)

Or/ &A1

What is foreign exchange market?
Explain the functions of foreign
exchange market.

o R g R 2 e R 3wre
IR 07 740

% % K
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